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1HFA E— 42 41 83| 14.4 | 68.6 51| Hi 46 44 90| 14.4 | 75.6
2|k = 39 42 81/10.8 | 70.2 52| E%F JnBA 42 42 84| 8.4 | 75.6
3R HA 45 40 85/ 14.4 | 70.6 53| F5HH 45 45 90| 14.4 | 75.6
4BR 2k 39 40 79| 8.4 |70.6 5430 & 39 44 83| 7.2 |75.8
5 G = 39 36 75| 3.6 |71.4 b5 ek =5 45 44 89/ 13.2 | 75.8
6 A KA 42 43 85| 13.2 | 71.8 56 | FEE 43 46 89/ 13.2 |75.8
TP HER 38 40 78/ 6.0 |72.0 57|1lijE EASR 44 45 89/ 13.2 | 75.8
8|22 £ 37 39 76| 3.6 |72.4 58 HE & 43 45 88/ 12.0 | 76.0
S 37 38 75 2.4 |72.6 59 | FEAT EEPA 42 46 88| 12.0 | 76.0
10|/ fik— 39 42 81| 8.4 |72.6 60/ B0 2 45 42 87/10.8 | 76.2
11| P& 42 39 81| 8.4 |72.6 61|E H HER 46 47 93| 16.8 | 76.2
12| Fnsk 38 43 81| 8.4 |72.6 62| £)E = 39 42 81| 4.8 |76.2
137 Bf% 50 49 99)26.4 | 72.6 63| AR IEAD 40 41 81| 4.8 |76.2
143K 5 46 46 92/ 19.2 | 72.8 64| E%F JRAT 44 42 86| 9.6 |76.4
15|/ B5E IR 40 39 79/ 6.0 |73.0 65| FkIL 25 48 44 92/ 15.6 | 76.4
16| HEr BE 36 37 73] 0.0 |73.0 66 | A HERE 45 47 92| 15.6 | 76.4
17 HpT sEid 48 42 90| 16.8 | 73.2 HELEEXS 40 38 78] 1.2 |76.8
18 K H EKER 43 40 83| 9.6 |73.4 68K H)II T 50 45 95/ 18.0 | 77.0
19|85 K BUR 46 49 95/21.6 | 73.4 69|67 1% 45 43 88/10.8 | 77.2
20| K1l B2 39 37 76| 2.4 [73.6 NEESHE 47 41 88/10.8 |77.2
211U 45 43 88| 14.4 | 73.6 T1H D TR 47 40 87| 9.6 |77.4
22|80 #EH] 45 43 88| 14.4 | 73.6 T2/ FF 40 40 80| 2.4 |77.6
23 |k 42 46 88| 14.4 | 73.6 [EBIEATE 46 46 92| 14.4 | 77.6
24 /K T 40 48 88| 14.4 |73.6 T4|FFH B 39 39 78] 0.0 |78.0
25 Wi 2 42 39 81| 7.2 |73.8 T55R B/E 45 44 89/10.8 |78.2
26 E R 40 41 81| 7.2 |73.8 76|/ H EHA 49 46 95)16.8 | 78.2
278K B 41 40 81| 7.2 |73.8 T —F 52 49|  101]22.8 | 78.2
28 |gn A B 45 48 93/ 19.2 |73.8 78| ML AL 42 41 83| 4.8 [78.2
29 BiZHE Al 38 36 74] 0.0 | 74.0 79|fg)Il 1E 42 40 82| 3.6 |78.4
308k TR 44 42 86/12.0 | 74.0 80 | FnHH % — 45 43 88| 9.6 | 78.4
S1EHAS N 40 40 80| 6.0 |74.0 S1|Z5Hh HOY 53 45 98/ 19.2 | 78.8
32| ey sk 46 45 91| 16.8 | 74.2 82/7EH =% 45 50 95| 15.6 | 79.4
33Tk 5 41 38 79| 4.8 | 74.2 83N R 46 48 94| 14.4 | 79.6
34| HFH B — 42 43 85/ 10.8 | 74.2 84|75k Bh 49 45 94| 14.4 [79.6
358K F 1 44 41 85/10.8 | 74.2 85 [iEA EF] 45 45 90| 9.6 |80.4
36 | INEk KEE 41 44 85/10.8 | 74.2 86|57k #Ath 50 51| 101]/19.2 |81.8
37 | E 49 41 90| 15.6 | 74.4 87|k = 47 46 93/ 10.8 |82.2
38 | IR 55— 46 44 90| 15.6 | 74.4 88 |jEk H Hij A 52 46 98| 15.6 |82.4
39|87k F= 39 39 78| 3.6 |74.4 89| F Y IS 48 56| 104]21.6 |82.4
405 &iE 42 42 84| 9.6 | 74.4 90 [AaAS FEAS 47 52 99| 15.6 |83.4
4114)1 1 40 37 770 2.4 | 74.6 91 | #J5 HoC 54 46| 100| 15.6 | 84.4
42/ H TH & 44 39 83| 8.4 | 74.6 92 A AT 55 52| 107 21.6 |85.4
43 |B fthsf 39 43 82| 7.2 [74.8
44 |k —i& 45 43 88| 13.2 | 74.8
45 K1 & 38 43 81| 6.0 |75.0
46| &+ KT 41 40 81| 6.0 |75.0
47 LRy Ha 45 48 93/18.0 | 75.0
48| AR L 46 53 99/24.0 | 75.0
49 R =+ 47 45 92/ 16.8 | 75.2
50 BT =®E T 45 46 91/ 15.6 | 75.4
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